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Evolution is best defined as

(A) Aquisition of desired characters
(B) Descent with modifications

(C) Struggle for existence

(D) Like begets like

In a food web hyenas and vultures
are

(A) Primary consumers

(B) Predators

(C) Scavengers ,

(D) Decomposers

The equation — lactate, alanine,
glycerol — glucose, represents which
of the following ?

(A) Glycolysis
(B) Glycogenolysis
(C) Gluconeogenesis

(D) Both glycolysis and
glycogenolysis

The first and the final moult in the larva
of Ascaris occurs in the

(A) Lungs
(B) Liver
(C) Stomach

(D) Intestine
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5. ﬁﬂﬁ@%ﬂﬁmﬁmsﬂaﬁ%m&wﬂ 5. Earliest evidences of social life are

&S HTOT 9 STd & 7 attributed to
(A) SI-AHH 9 § (A) Cro-magnon men
(B) Fetetae ama (B) Neanderthal man
(ORIEURICER: . (C) Peking man
(D) STaT qHe | (D) Java man
6. =7 @ H-ur oot am E R 7 6. Ofthe following which is not a vestigeal
(A) I TG organ ?
(B) g (sRfR) | Eg; mzzﬁ';:wm
(C) Tkt (cw =) (C) Tail bone
(D) @t | (D) Bones o
7. T Sgati ® | fore omen wfore e 7. Which of the animal does not have an
Tl e ? | alimentary canal ?
(A) BRI f (A) Fasciola
(B) TE=HRT | (B) Ascaris
(ORCEIERIAL (C) Ancylostoma
(D) fefrar | (D) Taenia
8. Hu MY Ud H Iq~ Hd © | 8. CAM plants at night produce
(A) F.3.90. | O R | " (A) PEP
(B) UTgEfereh 30t o (B) Pyruvic acid
(C) Aferen 3 (C) Malic acid
(D) Trfeen s (D) Citric acid
9. e s e g 3rgeren s 9. Chromatids joined together by
TR 39 A I8 & §, Feaa § duplicated but unseparated
(A) TR 3refpurgs centromere are called

(A) Sister chromatids

(B) THSId (B) Homol

omologs
(g; gﬂﬁ;ﬁi x (C) Bivalents
( (D) Alleles
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10. @Zﬁ'@ﬁgﬁ[ww
REIR |
A) 80% T + 20% Hfvra a1 firee 1
EEU
B) 70% X + 30% Whve a1 fee o
CEl
C) 60% YA + 40% gt a1 fee 1
EE
D) 50% T + 50% wftf a1 firee =1
GGl

1. FefRea 7 & fraet v areh qoed
FETSATE ?
(A) ITH
(B) F1sHU
(C) sHferfar
(D) TegIgied

12, e @ a1 Sivg STeAeiie] ST
feaman g ?

13. e ¥ e SR Aot Feen # fe A
3 forg wepr <61 fer et @ 7
(A) el

(B) gl
(C) it
(D) ®gH 3T HThe
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10. In loam soil, the proportion of soil
particles is

(A) 80% sand + 20% clay of silt or
both

(B) 70% sand + 30% clay or silt or
both

(C) 60% sand + 40% clay or silt or
both .

(D) 50% sand + 50% clay or silt or
both

11. Which of the following is flying fish ?
(A) Shark

(B) Chimera
(C) Latimaria

(D) Exocoetus

12. Of the following which animal exhibits
retrogressive metamorphosis ?

(A) Amphioxus

(B) Herdmania

(C) Balanoglossus
(D) Doliolum

13.  Which type of joints are found in the

pectoral and pelvic girdle of frog from
the following ?

(A) Hinge

(B) Pivot

(C) Saddle

(D) Ball and Socket
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14, FreafifRag 3 @ frgeh Suf¥fa % wrwr | 14, The blood of Pheritima is red due to
BT 7 T e QAT R 7 the presence of
(A) A |9 (A) Iron salts
(B) Juieh shifRrenmd (B) Pigment cells
(C) A~atrenIfdres Emienfem (C) Intercellular hemoglobin
(D) 3d:hif¥reR e fer (D) Intracellular hemoglobin
15. SHM®R Im R 15. Genophore is the name of
(A) IHEE & &.E.C H (A) DNA of Eukaryotes
(B) Y & d.wA.u. & (B) DNA of Bacteria
(C) SrHIftheT & Sfi=g w1 (C) Genes of Drosophila
(D) =ERART % St 1 (D) Genes of Neurospora
16. TIHRTT & Joiet 81 § 16. Elaters of Marchantia are
(A) IR T ST (A) Haploid and hygroscopic
(B) TeTIfora wa sTsamme (B) Diploid and hygroscopic
(C) 3T T SHEATE! (C) Haploid and non-hygroscopic
) RENNEREECIEGIDIN] (D) Diploid and non-hygroscopic
17. SIfa- gR1 il o1 35a H T o fo=m) 17. In the origin of species by Darwin the
FI A awei g o an ? concept of competition was taken from
which of the following ?
QRS i (A) A. Wallace
(B) . il (B) H. Spencer
(C) T2t af@ (C) H. de Vries
(D) &. . ATTTH (D) T. R. Malthus
18. e A fogeH BiaT ® 18. Cleavage in frog is
(A) Thﬁﬁ AT THH (A) Holoblastic and equal
(B) qu?ﬁ T A (B) Holoblastic and unequal
(C) m T Hefel (C) Meroblastic and superficial
(D) STl e feramy (D) Meroblastic and discoidal

TG-06/C
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19. Ol & g STaWING a1 s/
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(A) HETE
(B) TS
(C) THS
(D) eTré

20. wred # g % e A F AT TR
EARETEICHERE D) 01 i
(A) .. quget
(B) . ©I. ¥gan
(C) ¥m.wH. fae
(D) 3.9, I

21, WifpmaEe_ FfEATw
o et ? |
(A) FAETESIHITT
(B) Ficiared
(C) Feiiftrd
(D) TIRITET

00, TSGR Hfh@arg |
(A) ardiferar
(B) sadrdicH
(C) csIgitsad
(D) @A

23. TATEHICIGE % Y § 1 T T R ?
(A) Fael i Sl § gran 2
(B) @t Sfai # <
(C) I¥reRT-5= & g }
(D) TIHS T AT Nerefiaor
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Soil water, absorbed by plants, is

called

(A) Cresard
(B) Holard
(C) Echard
(D) Fullard

Who described the annqal recurrence
of Rusts of wheat in India ?

(A) B. B. Mundukur
(B) K. C. Mehta
(C) R. S. Singh
(D) E. J. Butler

Plakea stage is found in life cycle of
(A) Chlamydomonas

(B) Volvox

(C) Ulothrix

(D) Spirogyra

Rhizophore is found in
(A) Marsilea

(B) Equisetum

(C) Lycopodium

(D) Selaginella

Which is not true aboyt glycolysis ?

(A) Occurs only in aerobjc
organisms

(B) Occurs in all organisms
(C) Occurs in the Cytoplasm
(D) Glucose is Partially oxidized
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(A) T

(B) wifem

(C) Aafesra

(D) AfRaam

RTS8 B

(A) XWX, + el

(B) IIM.TE.T, + feww + T el
(C) ..U + fe=er

(D) W, + feRH + TH e

Yfeahas e are T R Al sussE
SR A Reffaa i a R -argdyem
STHEUT Tt S A W S TR ¢

(A) T
(B) ¥da1q
(C) ufgehy]

(D) wATSAl
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(A) i ()

(B) TV (37<N)
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(D) 1§ el
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In Palaemon, the statocyst are present
within which appendage ?

(A)

(B) Antenna
(C) Mandible
(D) Maxilla

Antennule

A Nucleosome consists of

(A) RNA + Histone

(B) RNA + Histone + Non Histone
(C) DNA + Histone

(D) DNA + Histone + Non Histone

If human blood mixed with an
anticoagulant is centrifuged, which
of the following will settle first at the
bottom of the centrifuge tube ?

(A) Erythrocytes
(B) Leucocytes
(C) Platelets

)

(D) Plasma

The ‘cohort’ of Bentham-Hooker is
equivalent to present day

(A) Class
(B) Order
(C) Family
(D) None
TG-06/C
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28, _ Ew g & gey gy Hafida
s :m?n aﬁftnf 1 @169 dm U A1

IR & A WA a1 |

(A) TITHY
G RUGEIER!
C) @&t sfazah sferam

(D) Tt sradadt snferam

29. gWTefea w1 forieH 9% B 2
(A) Afarafas
(B) Hieft @

(C) AV
(D) U™

g o Fehaaar fora Jehr 3 B 8 7
(A) TSk
(B) fohefisi=h

(C) Tgifafers=h
(D) FUTs=h

30.

(A) fevE % ST AT d
(B) TITEHTS o ATk i |
(C) =i oriTd |

(D) FregefteTy] &

A w3 e ) SATga iR e
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The principal function '+ (-
is packaging of materials to deliver to
the intra-cellular targets or to secrete

outside the cell.

(A) Lysosome

(B) Golgi apparatus

(C) Rough endoplasmic reticulum
(D) Smooth endoplasmic reticulum

Dissociation curve of Haemoglobin is
(A) Hyperbolic

(B) Straight line

(C) Parabolic

(D) Sigmoid

Ctenidium of unio are of which type ?
(A) Protobranch

(B) Fillibranch

(C) Eulamellibranch

(D) Septobranch

Endothelium is related to

(A) Innermost integument of ovule
(B) Innermost wall of anther

(C) Nuclear endosperm

(D) Microspore

T. H. Morgan used which of the

following for most of his work on
genetics ?

(A) Drosophila
(B) Neospora
(C) Pisum

(D) Oenothera
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33. QiR dvg Sufedd B ©

(B
(C) T=a d
(

(A) $FE |
) Afersh 4

D) ¥ ¥

34, WIEEA Has [ B 8 Fohg g &1 T

35.

. 36.

faRre wem 2 ?

JiRferar H Iceatid STu el § 919"
A g ?

(A) Tifem A gReRfem @

(B) TR sl R &
(C) T s F Frer &
(D) 3eqfean 3R wetfem g

TOTETt S g JTaTet Bl |
EEINIEH afaey 8 € guE
I FA R |

(A) g

(B) Fererrpmsh

(C) wegmwsht

(D) I & & i e
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Purkinje fibres are found in
(A) Lungs
(B) Brain
(C) Heart
(D) Liver

Botryoidal tissue is the characteristic
feature of which of the following
animal ?

(A) Pheretima
(B) Nereis

(C) Hirudinaria
(D) Aphrodite

In Aurelia the exhalent water current
returns through

(A) Perradii and interradii
(B) Perradii and adradii
(C) Perradii and ring canal

(D) Interradii and adradii

The lethal genes are largely recessive.
Hence they produce effect in the
state.

(A) Hemizygous
(B) Heterozygous
(C) Homozygous

(D) None of the above

TG-06/C
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Which of the following has upright
pyramid ?

(A) Biomass
(B) Number
(C) Energy
(D) All of the above

The chief function of pedicellariae of
star fish is

(A) Cleansing

(B) Respiration
(C) Capturing

(D) Defence

The tail of the sperm is made from
which of the following ?

(A) Microtubule

. (B) Microfilament

(C) Spindle tubule
(D) Centriole

Which of the following is a degradable
pollutant ?

(A) Mercury

(B) Trace metals
(C) Steel

(D) Domestic sewage
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(A) 9T TS
(B) SIgeR HATE
(C) = Tt
(D) A T

42.
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(A) TR
(B) TRIITH
(C) FqtHA
(D) WrifFe
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Motile cells with flagella are altogether
absent in

(A) Cyanophyceae
(B) Phaeophyceae
(C) Chlorophyceae
(D) Bacillariophyceae

A cavity formed by disintegration of
protoxylem tracheid in equisetum is

(A) Air chamber
(B) Valecular canal
(C) Central cavity

(D) Carinal canal

Of the following which is the phenolic
hormone ?

(A) Adrenaline
(B) Testosterone
(C) Parathormone
(D) Prolactin

Which of the following statements is
true regarding the nauplius larva ?

(A) Both antennules and antennae are
biramous.

(B) Only antennules are biramous.
(C) Only mandibles are biramous.

(D) Both antennae and mandibles are
biramous.

TG-06/C
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4. R Ufirerst & afsraan & R
FANTEE AR AT B 2 |
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(A) 171451 8
(B) 24U 3T &

(C) 3qAT4 T &
(D) 1qMM 2T &

YT fohe YRR o StieH o foTe e1gerfera
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(A) TR

(B) S

(C) 39T

(D) SR

46.

47. I -H1 Shdeh SII h! i AT ot ug=m

o & 3 srieeE # ygE B R 7
(A) faferan Aieen

(B) shrTsay T
(ORUSHESEEIES

(D) 3T | Y IS A&l

48. uf~rErerd faesfaa gu d
(A) Ufcrisige HeTehed |
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Consider the following statements.
1. Saliva acts as a lubricant.

2. Salivary amylase converts starch
into glucose.

3. The pH of saliva is about 3.4.

4. Chloride ions are essential for the
activity of salivary amylase.

Of these statements :

(A) 1 and 4 are correct
(B) 2 and 3 are correct
(C) 3 and 4 are correct

(D) 1 and 2 are correct

Pila is adapted to lead ___ life.
(A) Aerial

(B) Aquatic

(C) Amphibious

(D) Benthic

Which fungi can defect copperin traces
and used in bio-assays ?

(A) Penicillium notatum

(B) Sachromyces cerevasiae
(C) Aspergillus niger

(D) None of the above

The angiosperms were developed in
(A) Palaeozoic era

(B) Mesozoic era

(C) Coenozoic era

(D) Archaeozoic era
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(A) witreer gafra Aferente d
(B) T wafera Aferamati #
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e T80T T § 7

(A) AaEh
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(A) AUG
(B) UAA
(C) UAG
(D) UGA

ﬁc{%%aﬁéaﬁw—mmmal@

Y 7

(A) &Tvmuse | 3NN

(B) hTelH, TieTh QT TS SH 3 o
ATFATES

(C) HHa™ HvEd § s

(D) SO,

15

49,

50.

51.

92.

GET IT ON
Google Play

About 80% of the glomerular filtrate is
reabsorbed in the

(A) Proximal convoluted tubules
(B) Distal convoluted tubules

(C) Descending limb of loop of
Henle
(D) Ascending limb of loop of Henle

Of the insects which takes its food after
liquefying ?

(A) House fly
(B) Mosquito
(C) Cockroach
(D) Honey bee

Which of the following is called
amber ? '

(A) AUG
(B) UAA
(C) UAG
(D) UGA

Which of the following is .a primary air
pollutant ?

(A) Ozone in troposphere

(B) Dioxides of carbon, sulphur and
nitrogen

(C) Ozone in stratosphere
(D) SO
TG-06/C
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“|saphgol” is obtained from
(A) Strychnos nuxvomica
(B) Plantago ovata

(C) Erythroxylum coca

(D) Digitalis purpuria

Calyptra in Marchantia developed
from

(A) Base of archegonium

(B) Tissue of archegoniophore
(C) The amphithecium

(D) Wall of the venter

Solute potential (y) is always
(A) Negative

(B) Positive

(C) Zero

(D) One

Sapwood is also known as

(A) Secondary xylem
B

(B)
(C)
(D)

Duramen
Alburnum
Phelloderm

‘Orchil’, a blue dye is obtained from
(A) Cetraria icelandica
(B) Ramalina fastigiata
(C) Cladonia rangifera

(D) Evernia prunastri
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In pea, aestivation of petals is
(A) Valvate

(B) Vexillary

(C) Twisted

(D) None

Of the following which gas produces
green house effect ?

Neopilina is a connecting link
between

(A) Annelida and mollusca
(B) Annelida and arthropoda
(C) Echinodermata and chordata

(D) Protochordata and euchordata

Rho (p) factors involved in transcription
of DNA to RNA molecule is a

(A) Nucleoside
(B) Metallic ion
(C) Hormone

(D) Protein _
TG-06/C


https://www.adda247.com/?srsltid=AfmBOorxWlJHJat0hxykMSj0dTevsfMXFCCKkF-M1iJl0fZs38MiR7HD
https://play.google.com/store/apps/details?_gl=1%2Amx0b1g%2A_gcl_au%2AMTY5Nzk3MzE3LjE3NDQwMzIyMTI.&gl=US&hl=en_IN&id=com.adda247.app&pli=1

Adda 247

62. S SIG ATIHHI o AT T (IH) He
FWEFde NI e, d
FEA ¢ |

(A) Tgardl
(B) THaTl
. (C) rEHamd!

(D) ggaTdt

63. Sasedl ag & 4l fauda i W R
ITTseAl Stfetent & < faeefat =t siga
At ATTRISA] i FEgd ©
(A) TTEshIeISgeH
(B) SHHIEIHH
(C) TSI
(D) I | ¥ 18 T

64. ‘QTatvl % GEE Teig U fsiig gew
& THIUT @ S 63 FeaTdl &
(A) uTifRrfeeht o
(B) SigshHcT
(C) ThIEH (Hshfdreh)

(D) Hge™

65. 1= 3 A B & v fews st
A e s adian 7
(A) Wfae
(B) fectas tean
C) i Wea
(D) TTHRET
TG-06/C 18

62.

63.

65.

GET IT ON
Google Play

Some organisms can tolerate and
thrive in a wide range of temperature,
they are called

(A) Stenothermal
(B)
(C) Poikilothermal
(D) Eurythermal

Homeothermal

Tubules connecting two cisternae of
endoplasmic reticulum located at two
opposite ends of a plasmodesmata are

called as

(A) Microtubules

(B) Desmotubules
(C) Microfilaments
(D) None of the above

“The system resulting from the
integration of the all living and
non-living factors of the environment”
is called as

(A) Ecosystem

(B) Succession

(C) Ecotone

(D) Community

Of the following which larval stage of

Fasciola does not produces several
larvae ?

(A) Sporocyst

(B) Secondary redia
(C) Primary redia
(D) Cercaria
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An insect that produces shellac is

(A) Apis indica
(B) Bombyx mori
(C) Laccifera lacca

(D) Dictyolopium coccus

Wheel organ is present in which of the
following animal ?

(A) Amphioxus
(B) Herdmania
(C) Balanoglossus

(D) Doliolum

Chalazogamy fertilization occurs in
(A) Hibiscus

(B) Delphinium

(C) Casurina

(D) Morus

Quinine used in the treatment of
malarial fever is obtained from

(A) Bark of Cinchona
(B) Root of Rauvolfia
(C) Seeds of Ricinus comunis

(D) Atropa belladona
TG-06/C
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The chloroplast of Euglené is composed
of

(A) Chlorophyll ‘@’

(B) Chlorophyll ‘0’

(C) Chlorophyll ‘a’ and ‘b’

(D) Chlorophyll a, b and B-carotene

Homology indicates

(A) Common ancestry
(B) Divergent evolution
(C) Both

(D) None

Which of the following does not happen
in the prophase | of meiosis ?

(A) Condensation of chromosomes
(B) Pairing of homologs

(C) Chiasma formation

(D) Segregation

Gametangial copulation is common
in

(A) Ascomycetes

(B) Zygomycetes

(C) Basidiomycetes

(D) Deuteromycetes

Which of the following tissues in cycas
ovule is haploid ?

(A) Integument

(B) Nucellus

(C) Endosperm

(D) None of the above

TG-06/C
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Homologous structures found in some
species have no clear function. These

are called

(A) Degenerate organs
(B) Dormant organs
(C) Dwarf organs

(D) Vestigial organs

Chloroplasts contain maximum
quantity of

(A) RUBP carboxylase

(B) Hexokinase

(C) Pyruvate carboxylase

(D) None of these

Actinostele is found in

(A) Lycopodium annotinum
(B) Lyco’p/odium cernuum
(C) Lycopodium seratum
(D) Lycopodium volubile

The phenomenon of double fertilization
was first observed by

(A) S. G. Nawaschin
(B) E. Strasburger
(C) Joseph Kolreuter
(D) G. B. Amici

In scoliodon, the work of ampullae of
lorenzini is

(A) Mechano receptor
(B) Thermo receptor
(C) Rheo receptor
(D) Photo receptor
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84. Which of the following is not true

85.

86.

87.

regarding the blood vascular system
of cockroach ?

(A) Its blood is called hemolymph
(B) Heart has 13 chambers

(C) Respiratory pigment absent in
blood

(D) Pulsatile vesicles absent

Electroneutrality of blood is maintained
by the

(A) Hamburger's phenomenon
(B) Hering-Breuer's reflex
(C) Haldane effect

(D) Pneumotaxis centre

Of the following who discovered
polytene chromosome ?

(A) E. G. Balbiani
(B) J. M. Mitchison
(C) R. Von Hertwig
(D) Daniel Mazid

World Environment Day is celebrated
every year on which day ?

(A) June 5

(B) September 21

(C) October 1

(D) December 10

TG-06/C
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88. Which of the following pairs is not
correctly matched ?

(A) Monosaccharide — fructose

(B) Polysaccharide - cellulose

(C) Disaccharide — galactose

(D) Starch — mixture of
amylose and
amylopectin

89. In which of the following plants
root nodules are not formed by
Rhizobium ?

(A) Cajanus cajan
(B) Cicer arietinum
(C
(D

) Glycine max

) Casuarina glauca

90. Indian subcontinent is included in
(A) Palearctic region
(B) Oriental region
(C) Neotropical region

(D) Nearctic region

91.  The mouth parts of male mosquito do
not have

(A) Maxillae and mandible
B) Labium and labrum

(
(C) Maxillary palps and labellum
(D) Antenna and hypopharynx
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On the basis of number and position
of flagella, vibrio cholerae is

(A) Atrichous

(B) Amphitrichous
(C) Monotrichous
(D) Cephalotrichous

‘Leaf curl of papaya’ disease is
caused by

(A) Fungus

(B) Virus

(C) Bacteria

(D) Mycoplasma

“Nurse cells” are found in
(A) Riccia

(B) Marchantia

(C) Funaria

(D) None

The disease ‘citrus canker is caused by
(A) Fungi

(B) Virus

(C) Bacteria

(D) Deficiency of calcium

Which one of the following belongs to
the group ‘Embryophyta’ ?
(A) Algae
(B) Bryophyta
(C) Fungi
(D) Lichens
TG-06/C
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The coenosarc of Obelia is
(A) Tubular and non-living
(B) Tubular and living
(C) Rod like and non-living
(D) Rod like and living

In a typical test cross, a plant showing
dominant phenotype is crossed with a
plant showing phenotype.

(A) Recessive
(B) Dominant

(C) Any of the two
(D) None

The presence of bone is an unique
character of

(A) Hemichordata
(B) Urochordata

(C) Cephalochordata
(D) Vertebrata

In ' which form the nitrogenous waste
is discarded by the nephridia of
Nereijs ?

(A) Ammonia

(B) Urea

(C) Uric acid
(D) Guanine

Which one of the following is essential
for fruit ripening ?

(A) Auxin

(B) Cytokinin
(C) Ethylene
(D) Abscisic acid
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Botanical name of rosewood is
(A) Dalbergia latifolia

(B) Santalam album

(C) Rosa indica

(D) Bombax cieba

Which is a Lichen ?
(A) Turf moss

(B) Bog moss

(C) Iceland moss
(D) Peat moss

A monocot showing anomalous
secondary growth in stem is

(A) Musa
(B) Dracaena
(C) Leptadenia
(D) Adena

Common rock pigeon does not build
nest on

(A) Fissures of rocks
(B) Forts

(C) Houses

(D) Trees

One of the following acids is not
produced by Aspergillus niger

(A) Citric Acid
(B) Gluconic Acid
(C) Gallic Acid
(D) Oxalic Acid
TG-06/C
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Girdled leaf traces are characteristic
of

(A) Cycas
(B) Pinus
(C) Lycopodium
(D) Selaginella

In a microsporangium, tapetum is
generally layered.

(A) One
(B) Two
(C) Three
(D) Four

Of the following which classical
example was used by Lamarck to prove
his Theory of Acquired Characters and
Inheritance ?

(A) Goat

(B) Giraffe
(C) Horse
(D) Elephant

The cell organelles of eukaryotic cells
are moved by

(A) Actin filaments only
(B) Microtubules only

(C) Both actin filaments and
microtubules

(D) Both cilia and flagella
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Uromastix is commonly known as
(A) Girgit

(B) Spiny tailed lizard

(C) Flying lizard

(D) Wall lizard

Which of the following statement is
incorrect about viruses ?

(A) Viruses are obligately parasite.

(B) Non-cellular organism replicating
inside the living cell.

(C) Viruses are saprophytic.

(D) Viruses are composed of protein
covering surrounding nucleic

acid.

is a synthetic auxin.

(A) Indole acetic acid

(B) Indole butyric acid

(C) Naphthalene acetic acid
(D) None

Quadriflagellate condition of zoospore
is found in -

(A) Ulothrix
(B) Spirogyra
(C) Volvox
(D) Nostoc

The ovuliferous scale of Pinus is a
part of
(A) Megasporophyll
(B) Microsporophyll
(C) Ovule
(D) Dwarf shoot
TG-06/C
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Which of the following era is called age
of mammal ?

(A) Proterozoic era

(B) Paleozoic era

(C) Mesozoic era

(D) Cenozoic era

116.

Process of gastrulation in frog is more
complicated than in Amphioxus due to

presence of

(A) Passive micromere
(B) Passive macromere
(C) Passive mesomere
(D) Passive epimere

117.

118. Asexual spores are generally not

found in

(A) Agaricus
(B) Pythium
(C) Albugo
(D) Rhizopus

119. Morphologically Entamoeba histolytica

occurs in how many distinct forms ?
(A) 2
(B) 3
(C) 4
(D) 5

120. The cause of cerebral malaria is
(A) Plasmodium vivax
(B) Plasmodium falciparurh
(C) Plasmodium malariae
(D) Plasmodium ovale
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Morphological dimorphism found in
thallus of

(A) Chlamydomonas
(B) Ulothrix

(C) Oedogonium
(D) Ectocarpus

In Lichen, sexual reproduction is
performed by

(A) Fungionly

(B) Algae only

(C) Algae and fungi both
(D) Neither algae nor fungi

Inverted cortical vascular bundle is
found in

(A) Boerhaavia
(B) Nyctanthes
(C) Amaranthus
(D) Dracaena

In which of the following families, the
calyx is modified into a pappus ?

(A) Cruciferae

(B) Malvaceae
(C) Compositae
(D) Solanaceae

Which of the following is known as
‘Rendeer moss’ ?

(A) Lobaria pulmonaria
(B) Ramalina fraxinia
(C) Cladonia rangifera

(D) Parmelia
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